FORM OF RETURN OF ELECTION RESULT

DIOCESE OF CHESTER, ARCHDEACONRY OF MACCLESFIELD ELECTORAL AREA

ELECTION OF FOUR MEMBERS OF THE HOUSE OF LAITY TO REPRESENT THE DIOCESE IN GENERAL SYNOD

held on the thirteenth day of October 2021

I, the undersigned, being the presiding officer for the election of members of the House of Laity for the Macclesfield electoral area of the diocese,

CERTIFY THAT the person whose names are listed below has been duly elected in the Macclesfield electoral area of the diocese.

Stage at which elected	Surname	Full Christian Names	Title or form of address	Address - including postcode	e-mail address	Year of birth	
8	ALLOTEY	Janette	Dr	355 Crewe Road, Wistaston, Nantwich, Cheshire, CW5 6NW	alloteyjanette@gmail.com	1957	
9	WILSON	Samuel Harvey	Mr	Apartment 37, 1A Groby Road, Altrincham, WA14 1RS	s.wilson989@gmail.com	1998	
7	WITHERS	Julie Helen	Ms	20 Manor Crescent, Knutsford, Cheshire, WA16 8DL	jh.withers@gmail.com	1958	
8	WOODS	Deborah Jayne	Miss	10 South Downs, Knutsford, Cheshire, WA16 8ND	Debbiewoods67@gmail.com	1967	

Dated this thirteenth day of October 2021

Signed

Presiding Officer

Papers Issued: 308 Papers returned: 179

Spoilt Papers: nil

Percentage Poll: 58.1%

Members of the House of Laity Macclesfield

Stage 1

Quota = 35.80

Stage 2

Excluding OKUNDAYE, Mrs Julie

Transferring papers worth 1.00
Transfer from OKUNDAYE, Mrs Julie: 2 at 1.00 = 2.00
Transfer to ALLOTEY, Dr Janette: 1 at 1.00 = 1.00

Transfer to WILSON, Mr Sam: 1 at 1.00 = 1.00

Stage 3

Excluding MASON, Miss Rachel

Transferring papers worth 1.00

Transfer from MASON, Miss Rachel: 4 at 1.00 = 4.00 Transfer to HERMITT, Mr David: 2 at 1.00 = 2.00 Transfer to WILSON, Mr Sam: 2 at 1.00 = 2.00

Stage 4

Excluding HASLAM, Mr John

Transferring papers worth 1.00

Transfer from HASLAM, Mr John: 6 at 1.00 = 6.00 Transfer to ALLOTEY, Dr Janette: 1 at 1.00 = 1.00 Transfer to HARRIS, Mr Jeremy: 1 at 1.00 = 1.00

Transfer to HERMITT, Mr David: 1 at 1.00 = 1.00

Transfer to PERRIN, Mr George: 1 at 1.00 = 1.00 Transfer to WITHERS, Ms Julie: 2 at 1.00 = 2.00

Stage 5

Excluding PERRIN. Mr George

Transferring papers worth 1.00

Transfer from PERRIN, Mr George: 14 at 1.00 = 14.00 Transfer to GOODWIN, Colonel Richard: 1 at 1.00 = 1.00 Transfer to HARRIS, Mr Jeremy: 3 at 1.00 = 3.00

Transfer to WILSON, Mr Sam: 2 at 1.00 = 2.00
Transfer to WITHERS, Ms Julie: 2 at 1.00 = 2.00

Transfer to WOODS, Miss Deborah: 4 at 1.00 = 4.00

Transfer to Non-transferable: 2 at 1.00 = 2.00

Stage 6

Excluding GOODWIN, Colonel Richard

Transferring papers worth 1.00

Transfer from GOODWIN, Colonel Richard: 16 at 1.00 = 16.00

Transfer to ALLOTEY, Dr Janette: 2 at 1.00 = 2.00 Transfer to HARRIS, Mr Jeremy: 5 at 1.00 = 5.00 Transfer to WOODS, Miss Deborah: 9 at 1.00 = 9.00

Stage 7

Excluding HERMITT, Mr David

Transferring papers worth 1.00

Transfer from HERMITT, Mr David: 17 at 1.00 = 17.00

Transfer to ALLOTEY, Dr Janette: 3 at 1.00 = 3.00 Transfer to WILSON, Mr Sam: 4 at 1.00 = 4.00

Transfer to WITHERS, Ms Julie: 8 at 1.00 = 8.00

Transfer to WOODS, Miss Deborah: 2 at 1.00 = 2.00

WITHERS, Ms Julie ELECTED

With 43.00 over quota 35.80

Stage 8

No candidates can be excluded, so we transfer the largest surplus

Surplus of WITHERS, Ms Julie

8.00 transferred

This is more than the surplus of 7.20

So ballot papers given a new value of 0.90

Transfer from WITHERS, Ms Julie: 8 at 0.90 = 7.20

Transfer to ALLOTEY, Dr Janette: 3 at 0.90 = 2.70 Transfer to WILSON, Mr Sam: 3 at 0.90 = 2.70

Transfer to WOODS, Miss Deborah: 2 at 0.90 = 1.80

ALLOTEY, Dr Janette ELECTED With 37.70 over quota 35.80

WOODS, Miss Deborah ELECTED

With 35.80

Stage 9

No candidates can be excluded, so we transfer the largest surplus Surplus of ALLOTEY, Dr Janette 3.00 transferred This is more than the surplus of 1.90
So ballot papers given a new value of 0.63
Transfer from ALLOTEY, Dr Janette: 3 at 0.63 = 1.89
Transfer to WILSON, Mr Sam: 3 at 0.63 = 1.89

WILSON, Mr Sam ELECTED

With 35.59

Finished

Election for Members of the House of Laity Macclesfield

Date 13/10/2021 Number to be elected 4 Valid votes 179 0 Invalid votes 35.8 Quota eSTV Reg. 54096 2.0.16

Election rules CofE

		Stage		2 Stage		3 Stage	2	4 St	age	5 :	Stage	6 Sta	age	7	Stage	8	Stage	9
	First	Exclusion of		Exclusion of		Exclu	sion of	Ex	clusion of	1	Exclusion of	Ex	clusion of		Surplus of		Surplus of	
Candidates	Preferences	OKUNDAYE,	Mrs Julie	MASON, Miss	Rachel	HASL	AM, Mr John	PE	ERRIN, Mr Georg	ge (GOODWIN, Col	onel RicHE	RMITT, Mr Da	vid	WITHERS, Ms	Julie	ALLOTEY, Dr.	Janette
ALLOTEY, Dr Janette	2	8 :	. 2	9	2	29	1	30		30	2	32	3	35	2.7	37.7	-1.9	35.8 Elected
GOODWIN, Colonel Richard	1	5	1	5	1	15		15	1	16	-16 -		-		-		-	
HARRIS, Mr Jeremy	2	5	2	5	2	25	1	26	3	29	5	34		34		34		34
HASLAM, Mr John		6		6		6	-6 -		-		-		-		-		-	
HERMITT, Mr David	1	4	1	4 2	1	16	1	17		17		17	-17 -		-		-	
MASON, Miss Rachel		4		4 -4 -			-		-		-		-		-		-	
OKUNDAYE, Mrs Julie		2 -2	2 -	-			-		-		-		-		-		-	
PERRIN, Mr George	1	3	1	3	1	13	1	14	-14 -		-		-		-		-	
WILSON, Mr Sam	2	2 :	. 2	3 2	2	25		25	2	27		27	4	31	2.7	33.7	1.89	35.59 Elected
WITHERS, Ms Julie	3	1	3	1	3	31	2	33	2	35		35	8	43	-7.2	35.8		35.8 Elected
WOODS, Miss Deborah	1	9	1	9	1	19		19	4	23	9	32	2	34	1.8	35.8		35.8 Elected
Non-transferable				0		0		0	2	2		2		2		2	0.01	2.01
Totals	17	9	17	9	17	79		179		179		179		179		179		179